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*phenols are more acidic than alcohols because :
-phenoxide resonance is more stabilized

* which is more basic ?
- NH3 or aniline or methylamine
answer : methylamine
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*in nitration reaction for benzene ... the electrophile is :
-NO2 / NO3+ / NO2+ / NO-
answer : NO2+

* which of the following is hemiacetal :

O
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-NH2-C(CH3)2-COCH2

answer : tert-amino methyl ketone

answer : 2- phenyl ehtanioc acid

Answer : cyclopentancarbaldehyde
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1 — draw the intermdeite in SN2 reatcion

2- draw dot structure for HONO2

3- optically active structure for C4H11N

CH;—CH,—CH—CH,

4- cumulated structure for c4h6

CH3-CH=C=CH2
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CH3-C=C-CH3 >>> CH3-CO-CH (OCH3) CH3

1) CH3-C=C-cH3 22 ___ o CH3-CH=CH-CH3
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RCOH3 / \
2) CH3-CH=CH-CH3—> CH3-CH-CH-CH3

OH
3) CH3-CH-CH-cH3 B+ o CH3-CH-CH-CH3
CH30H |
OH OCH3
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4) CH3-CH-CH-CH3 ——> CH3-CO-CH (OCH3) CH3
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